Rule 10 / Case 10 Quiz

KEYS
Team A or Team B is designated as A or B

Team A or Team B's 45 yard-lines, example: A-45 or B-45

Player A or B's number is 40, example: A40 or B40

Second down and 6 yards to go for A at the B 23 yard-line, example: A, 2/6, B-23
The Kicking or Receiving teams are designated as K or R

Team K or Team R's 45 yard-lines, example: K-45 or R-45

Player K or R's number is 65, example: K65 or R65

Fourth down and 12 yards to go for K at the R 45 yard-line, example: K, 4/12, R-45

1. K16 punts from the K-30. While the ball is in the air, R45 holds K23 at the 50.

R29 catches the punt at the R-30 and returns it to the K-40. The penalty is
accepted.

Mark only one oval.

Replay the down
R,1/10, R-40
R,1/10,R-20

2. During a legal scrimmage kick, a kicker commits a blind side block on a
receiver beyond the expanded neutral zone. A receiver makes a valid fair
catch. In order to retain the ball, the receiver must decline kicker’s foul.

Mark only one oval.

True

False

1 point

1 point



A, 3/6, B-26. An offensive back is illegally in motion when the QB takes the 1 point
snap and throws a pass to an eligible receiver. A defensive player intercepts

the pass at the B-20 and returns it to the B-40. During the return, a defensive

player blocks an offensive player below the waist at the B-32.

Mark only one oval.

B, 1/10, B-17 if B declines A’'s penalty
A, 1/10, B-16 if both penalties are accepted
A, 3/6, B-26 only if A accepts B’s penalty

The QB throws a pass which is intercepted beyond the line of scrimmage. 1 point
During the runback, a B player blocks an A player in the back, and an A player
grabs and releases the runner’s facemask.

Mark only one oval.

Double foul; the down must be replayed

B can retain the ball if it declines A’s foul

K, 4/7, K-15. K'is in a scrimmage kick formation. Immediately after the snap, 1 point
the nose guard runs directly into the snapper. The punter runs to the K-18 and
punts. A receiver catches the kick at the K-35 and is downed at the K-30.

Mark only one oval.

R can retain possession by declining K's foul. R, 1/10, 50-yard line
K can re-kick by declining R’s foul. K, 4/12, K-9

Fouls offset. R, 1/10, K-30

aorb

Replay the down



A, 3/5, A-27. An eligible receiver catches a legal forward pass at the A-37 and 1 point
runs to the A-45, where he is tackled. During the run, an offensive player holds
a defensive player at the A-40. ES is:

Mark only one oval.

A-27
A-45
A-40

A, 3/5, A-27. An eligible receiver catches a legal forward pass at the A-37 and 1 point
runs to the A-45, where he is tackled. During the pass, an offensive player
holds a defensive player at the A-20. ES is:

Mark only one oval.

A-27
A-45
A-20

37. A, 3/2, A-16. A legal forward pass is intercepted at the A-45; the 1 point
intercepting player runs to the A-20, where he is tackled. During the run, a
defensive player blocks an offensive player below the waist at the A-30. ES is:

Mark only one oval.
N/A. Replay the down
A-16
A-30
A-20
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